Gilligan’s Logic Puzzle

Use the given clues to solve the logic puzzle as shown below. Then, use the column numbers to extract the
Nth letter of the word in each row to form a new word for every property group. For example, the Color

group uses the 1% letter of “lavender” (L), 2™ of “cornflower” (O), 3™ of “rose” (S), and 4" of “mint” (T) to
spell the word LOST.

Doing this for all three groups spells the phrase LOST BOAT NAME. Anyone familiar with the eponymous
TV show will know the answer is: MINNOW
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